Activity 40 
1st Conditional

100 feet
(6’15)
This segment is about a woman who killed her violent husband and is now in house arrest. The segment shows police officers telling her about how her ankle bracelet works and the consequences of its misuse. 
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A. Before viewing discuss the following questions with a partner:

1 - What are the advantages and disadvantages of house arrest?

2 - Do you agree with this procedure of the law? Why  (not)? 
3 - Is it an effective way to rehabilitate prisoners? Why (not)

B. Match the condition and the consequence the action will cause.

Conditions: 

1 - She passes the 100 perimeter space.

2 - The alarm continues for more than 3 minutes.

3 - She breaks out the house arrest rules. 

4 - She has any violation.

5 - She attempts to remove the electronic ankle bracelet or temper with the base unit.

6 - They get a blackout or something.

Consequences:

(    ) A signal is automatically sent and a car is seen immediately.
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(    ) She goes back to jail.

(    ) It adds automatically 10 years to her sentence.

( 1 ) The alarm is activated.

(    ) An alarm automatically alerts the police.

(    ) The base unit still works.

C. Now watch the segment and decide whether your guesses were correct.

D. Now rewrite the pairs of sentences using the 1st conditional:

Ex: 1 - If she passes the 100 feet perimeter, the alarm will be activated.

2. 

3. 


4. 


5. 


6. 
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CONSEQUENCES:

2, 3, 4, 1, 5, 6

B 

2. If the alarm continues…, a signal will be …

3. if she breaks out…, she goes…

4. If she has any…, it will add…

5. If she attempts to…, an alarm will automatically alert…

6. if they get a…, the base unit will still work.
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